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QUESTION 1

Given an application with a main module that has this module-info.java file:

module main {
eXports country;
uses country.CountryDetails;

Which two are true? (Choose two.)

A. A module providing an implementation of country.CountryDetails can be compiled and added without recompiling the
main module.

B. A module providing an implementation of country.CountryDetails must have a requires main; directive in its module-
info.java file.

C. An implementation of country.countryDetails can be added to the main module.

D. To compile without an error, the application must have at least one module in the module source path that provides
an implementation of country.CountryDetails.

E. To run without an error, the application must have at least one module in the module path that provides an
implementation of country.CountryDetails.

Correct Answer: BD

Reference: https://stackoverflow.com/questions/49476559/java-9-error-not-in-a-module-on-the-modulesource-path

QUESTION 2

Given: Which statement is equivalent to line 1?
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import java.util.List;
import java.util.function.BinaryOperator;
public class Main {

public static void main(String... args) {

List<Employee> list = List.of (new Employee (“John”, B80000.0), new Employee (“Scott”,

a0000.0))
double starts = 0.0;
double ratio = 1.0;
BinaryOperator<Double> bo = (a, b) —> a + b;

double totalSalary = list.stream() .map(e —>» e.getSalary() * ratio).reduce(starts, bo);
// line 1

System.out.println(®Total salary = ™ + totalsalary);

}

class Employee {
String name;
double salary:
public Employee (String name, double salary) {

this.name = name;
this.salary = salary;
}
public String getName() { return name; }

public double getSalary{} { return salary; }

A. double totalSalary = list.stream().map(e -> e.getSalary() * ratio).reduce(bo).ifPresent (p -> p.doubleValue());
B. double totalSalary = list.stream().mapToDouble(e -> e.getSalary() * ratio).sum;

C. double totalSalary = list.stream().map(Employee::getSalary * ratio).reduce(bo).orElse(0.0);

D. double totalSalary = list.stream().mapToDouble(e -> e.getSalary() * ratio).reduce(starts, bo);

Correct Answer: C

QUESTION 3

A bookstore\\'s sales are represented by a list of Sale objects populated with the name of the customer and
the books they purchased.

public class Sale {

private String customer;

private List items;

/I constructor, setters and getters not shown

}

public class Book {

private String name;
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private double price;

/I constructor, setters and getters not shown

}
Given a list of Sale objects, tList, which code fragment creates a list of total sales for each customer in

ascending order?

A. List<String> totalByUser = tList.stream(]

.collect (flatMapping(t —> t.getItems () .stream(},
groupingBy (Sale: :getCustomer,
summingDouble (Book: :getPrice) ) )]

.entrySet () .stream()

.sorted (Comparator.comparing (Entry: :getValue) )

.collect (mapping(e —> e.getRey() + ™:" + e.getValue(),tolList())):

B. List<String>» totalByUser = tList.stream()

.collect (groupingBy (Sale: :getCustomer,
flatMapping(t —> t.getItems () .stream(),
summingDouble (Book: i:getPrice)) ) )

.sorted (Comparator. comparing (Entry::getValue))

.collect (mapping{e —> e.getBey() + ":" + e.getValue () ,tolList ()));

C. List<String>» totalByUser = tList.stream()

.collect (groupingBy (Sale::getCustomer,
flatMapping(t —> t.getItems () .stream(),
summingDoukle (Deok: :getPrice)) ) )

.entrySet () .stream/()

.sorted (Comparator.comparing (Entry::getvValue) )

.collect (mapping (e —> e.gstEey() + “:" + e.getValue(),tolList()});

D. List<String>» totalByUser = tList.stream()

.collect (flatMapping(t —> t.getItems () .stream(),
groupingBy (Sale: :getCustomer,
summinglouble (Book: :getlrice] )} )

.sorted (Comparator.comparing (Entry::getValue))

.collect (mapping (e —> e.gstRey() + “:" + e.getValue() ,telList ()]}

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 4
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Given: Which one is correct?

public class Main
public static wvoid
Thread tl =

Thread t2 =
Thread t3 =
tlostart{):;
£2 .rund);

t3.start{):;
£l .s8tart{);

!
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main(String[] args) {

Thread({new MyThread()) s
Thread(new MyThread()) s
Thread(new MyThread ()] ;

class MyThread implements Runnable

public void run/{)
System.ocut.println (“Ruaning.”) ;

Byt

A. An lllegalThreadStateException is thrown at run time.

B. Three threads are created.

C. The compilation fails.

D. Four threads are created.

Correct Answer: A

WA R ENIINRR . W al S e E

Running.
Running.
Running.

(L LTI RT L e P R R R R R AT ]

Exception in thread "main”™ javo.lang.IllegalThreadStateException
at java.base/java.lang.Thread. start(Thread. java:794)
at Main.main{Main.java:12)

QUESTION 5

Given:
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@Target (ElementType . METHOD)
@Retention (RetentionPolicy.RUNTIME)
public @interface AuthorInfo {

}

String author() default

String date() s

R
r

String[] comments() default {};:

Which two are correct? (Choose two.)

Correct Answer: CD

Latest 170-816 Dumps

A AARuthorInfo{date="1-1-2020", comments={ null })
public class Hello {
public wvoid funec() {}
H
B. public elass Hello {
BRuthorInfeo (date="1-1-2020. comments="Hello")
public void func() {}
H
C. public class Hello {
EruthorInfo
public void func() {}
}

D. @authorInfo(date="1-1-2020")

public class Hello {
public woid func() {}
}

E publiec class Hello {
faunthorInfo{date="1-1-2020", author="Gandhi”,
public void fune ()} {}

}

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E
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comments={ “world" })
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